
Exploded Views and Parts List

1. Main
Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1 2 WF0004 DC97-16703A ASSY FRAME; ARNO,WF1124ZAC SA 1

2 2 WU5151 DC97-16645A ASSY PUMP DRAIN; ARNO,WF1124ZAC/XEF SA 1

3 1 WF0009 DC90-11688A ASSY FRONT; ARNO,WF1114XBD/XEF SNA 1

4 1 WR0005 DC90-06007A ASSY DRAWER; ARNO PJT,WF1124ZAC/XEF SNA 1

4-1 2 WR0008 DC97-16643A ASSY HOUSING DRAWER;
ARNO,WF1124ZAC/XEF

SA 1

4-2 2 WR0005 DC97-16696A ASSY DRAWER; ARNO,WF1124ZAC SA 1

5 1 WC0016 DC90-10935A ASSY PANEL CONTROL;
ARNO,WF1114XBD/XEF

SNA 1

5-1 2 WZ0025 DC92-00676A ASSY PCB SUB;
ARNO,WF1124XBC,12KG,230V/50

SA 1

6 1 WT0008 DC90-06017A ASSY TUB FRONT; ARNO
PJT,WF1124ZAC/XEF

SNA 1

7 1 WT0007 DC90-09979A ASSY TUB BACK; ARNO,WF2124ZAC/XEE SNA 1

8 1 WG0004 DC90-06011A ASSY DRUM; ARNO PJT,WF1124ZAC/XEF SNA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 1



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

9 2 WJ5077 DC60-40146A BOLT-SPANER; CR,T2.5,- SA 1

10 2 WA5001 DC67-00307A CAP-FIXER;
WF438AAC/XAA,PP,T1.5,BLK,RM60

SC 6

11 2 WI0009 DC97-16128A ASSY COVER DRAWER;
SCOUT,WF0704L7W/XEF,PP

SC 1

11-1 3 WI0108 DC67-00524A CAP-DRAWER;
WF0804Y8E/XEF,PP,T2.0,W27,L43

SA 1

11-2 3 WI0353 DC61-02581C GUIDE-LIQUID(M);
WF1802XEC,PP,T2.0,W61,W1

SA 1

12 2 DC97-16921A ASSY HOSE WATER;
HEBA,WF8804,REFLEX,BLUE/

SA 1

13 2 WH5379 DC62-10278A HOSE-HANGER; PUMP MODEL,PP,BLACK SA 1

2 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

1.1. Frame & Cover Parts

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1 2 WF0002 DC97-16695A ASSY COVER BACK; ARNO,WF1124ZAC/XEF SA 1

2 1 WF0003 DC90-06006A ASSY COVER TOP; ARNO
PJT,WF1124ZAC/XEF

SNA 1

2-1 2 WX0531 6009-001476 SCREW-HEX;
HEX,+,M5,L10,Ni-Zn(WHT),SWRCH1

SA 2

2-2 2 WF0003 DC97-16691A ASSY COVER TOP;
ARNO,WF1124,WOOD+ABS,595*

SA 1

3 2 WJ5109 DC97-14653C ASSY FIXER TUB; SCOUT,WF0804Y8E/XEF SA 4

4 2 DC29-00015G FILTER EMI; LFT-215G,250V,15,53*53*97,50/ SA 1

5 2 WF0008 DC97-16692A ASSY FRAME PLATE(U);
ARNO,WF1124ZAC/XEF

SA 1

6 2 WF0102 DC61-03099A SPRING ETC-HANGER;
ARNO,HSWR-SWRH,CD4.2,O

SA 2

7 2 WF0004 DC97-16703A ASSY FRAME; ARNO,WF1124ZAC SA 1

7-1 3 WP0037 DC97-16693A ASSY BRACKET SPRING(R);
ARNO,WF1124ZAC/XE

SA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 3



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

7-1-1 4 WI0266 DC61-02065A GUIDE-SPRING;
WF448AAG/XXA,POM,T4,W24,L36

SA 1

7-2 3 WP0036 DC97-16694A ASSY BRACKET SPRING(L);
ARNO,WF1124ZAC/XE

SA 1

7-2-1 4 WI0266 DC61-02065A GUIDE-SPRING;
WF448AAG/XXA,POM,T4,W24,L36

SA 1

8 2 WU5151 DC97-16645A ASSY PUMP DRAIN; ARNO,WF1124ZAC/XEF SA 1

8-1 3 WU5008 DC31-00030A PUMP-DRAIN; B20-6 / S3001,220V-240V,50Hz, SA 2

8-2 3 WU0023 DC61-03082A CASE-PUMP;
ARNO,PP,T2.5,W184.6,L165.2,NTR

SA 1

8-3 3 WW0006 DC93-00150D ASSY WIRE HARNESS-PUMP;
ARNO,WF1124ZAQ/XE

SA 1

8-4 3 WA0006 DC97-16642A ASSY FILTER; ARNO,WF1124ZAC/XEF SA 1

9 2 WE0020 DC96-01703B ASSY SENSOR PRESSURE; PURPLE
PJT,PURPLE P

SA 1

10 2 WE0016 DC96-00146A ASSY POWER CORD;
VDE,UCP2,250V16A,H05VV-F

SC 1

11 2 WB5216 DC97-00920C ASSY LEG; SEW-HW108,L48.5,M10 SC 4

12 2 DC97-16680A ASSY HOSE DRAIN(O);
ARNO,WF1124,ASSY,L185

SA 1

13 2 WF0015 DC97-14642A ASSY PLATE BOTTOM; -,-,NON LEAKAGE
SENSOR

SA 1

14 2 WW0026 DC93-00277G ASSY M.GUIDE WIRE HARNESS;
ARNO-F3,WF1124

SA 1

14-1 3 WI5054 DC61-03102A GUIDE-WIRE(F); ARNO,PP,NATURAL,FRONT SA 1

15 2 WI0196 DC63-01345A COVER-PCB(M); ARNO,HIPS,T2.5,NATURAL,- SA 1

16 2 DC92-00969A ASSY PCB MAIN INVERTER; ARNO
SENSORLESS,8

SA 1

17 2 WE5187 DC93-00278A ASSY SENSOR; MEMS SENSOR,410mm,ARNO SA 1

18 2 WE0026 DC93-00279A ASSY TRANS REACTORV; ARNO,220V/60Hz SA 1

18-1 3 WP0161 DC61-03107A BRACKET-REACTOR;
ARNO,PP,T3.0,NATURAL,V0

SA 1

18-2 3 WE0149 DC26-00009P TRANS-REACTOR;
8.5mH,220V-240V,3A,220V-24

SA 1

19 2 WH5359 DC61-00274A GUIDE-HOSE;
P/PV/M,PP,-,-,-,WHT,FRAME/DRA

SA 1

20 2 WI0383 DC61-02601A GUIDE-HOSE; EPP,T50,WHT SA 1

21 2 WA0001 DC63-01313A ABSORBER-SOUND;
SCOUT2-PJT,PP,T10,W500,L4

SNA 1

4 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

WF1114XBD/XEF (0002)

1 WF0003 DC90-06006A ASSY COVER TOP;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 WX05316009-001476 SCREW-HEX;HEX,+,M5,L10,ZPC(WHT),SWRCH18A 2 SA

.2 WF0003 DC97-16691A ASSY COVER TOP;ARNO,WF1124,WOOD+ABS,595* 1 SA

..3 0201-002032 ADHESIVE-HM;-,Off White Solid,-,Urethane 50 SNA

..3 RO546 0203-001262 TAPE-AL FOIL;DTS-01C,T0.03,W200,L25000,S 0 SNA

..3 DC60-80174A PIN-STAPLE;MSWR10(W10*L8),NTR,1008J 4 SNA

..3 WI0320 DC63-01346A SHEET-PARTICLE;ARNO,WOOD,W543,L517,H9.2, 1 SNA

..3 WF0045 DC63-01347A COVER-TOP;ARNO,ABS,T3.5,W594.8,L605,WHT 1 SNA

1 WR0005DC90-06007A ASSY DRAWER;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 WX04946003-000226 SCREW-TAPTYPE;TH,+,-,S,M4,L8,ZPC(WHT),SW 2 SC

.2 WR0008DC97-16643A ASSY HOUSING DRAWER;ARNO,WF1124ZAC/XEF 1 SA

..3 DC02-10007A CHEMICALS-BOND DIA;1603HFR 0 SNA

..3 WR0039DC61-03085A HOUSING-DRAWER(L);ARNO-PJT,PP,T1.8,NTR 1 SNA

..3 WE5152 DC62-00024M VALVE-WATER;V7-PJT,NYLON,2WAY,MAX 10BAR, 1 SA

..3 WH5267DC67-00051B HOSE-DRAWER;Q1636GW/XEU,EPDM,ID9.0,OD14. 0 SA

..3 DC67-00327A CAP-DRAWER HOOK;HEBA-PJT,EPDM,T1.1,W13.9 1 SNA

..3 WO0063DC72-00021A ABSORBER SPONGE;Q1635V,PE-FOAM,OD6,L170, 1 SNA

..3 WR0012DC97-16006A ASSY S.HOUSING DRAWER;SCOUT,WF0804Y8E,PP 1 SA

...4 WR0040DC61-02585A HOUSING-DRAWER(M);WF0800NCE,PP,T2.0,W175 1 SNA

...4 WR0041DC61-02587A HOUSING-DRAWER(U);WF0800NCE,PP,T1.8,W162 1 SNA

....5 0103-003461 RESIN-PP;FC2305,NTR,NC0001 0 SNA

.2 WR0005DC97-16696A ASSY DRAWER;ARNO,WF1124ZAC 1 SA

..3 WC0114DA64-03804A MASCOT;ALL,NI,T0.05,L65 1 SA

..3 WR0029DC61-02580A BODY-DRAWER;WF0800NCE,PP,T2.0,L265,W154, 1 SA

...4 0103-003001 RESIN-PP;FC2305,COOL WHITE,WT0057 0 SNA

..3 WR0038DC64-02683A HANDLE-DRAWER;ARNO,ABS,T2.0,WHT 1 SNA

..3 WC0123DC64-02686A PANEL-DRAWER;ARNO,ABS,T2.5,W183.4,L114.8 1 SNA

..3 WI0125 DC67-00452A CAP-RINSE;WF0800NCE,PP,T2.0,W66.5,L219,E 1 SA

...4 0103-004841 RESIN-PP;FC2305,B177 60 SNA

1 WG0004DC90-06011A ASSY DRUM;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 0205-001203 GREASE-LITHUM;L-8903,CASMOLY,- 0 SNA

.2 WJ0109 6031-001640 WASHER-SPRING;STS,-,ID35.2,OD39.0,T0.3,- 1 SNA

.2 WG0004DC97-16699A ASSY DRUM;ARNO,WF1124ZAC,D507.4 x H490.8 1 SA

..3 6044-001781 RING-OG;ID33,OD36.4,T1.7,BLK,NBR 1 SNA

..3 WJ5081 DC60-40137A BOLT-HEX;MARS-PJT,STS430,M8,P1.25,L30,HE 6 SA

..3 WG0057DC66-00674A DRUM-WRAPPER;ARNO,STAINLESS-STS430,OD504 1 SNA

...4 0101-003038 STEEL-PLATE;STS,STS430,0.6,BA 3 SNA

..3 WG0054DC66-00675A DRUM-FRONT;ARNO,STAINLESS-STS430,ID321,O 1 SNA

..3 WG0055DC66-00677A DRUM-LIFTER;ARNO,PP,W54,H45.8,L302,T2.5, 3 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 5



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

..3 WG0053DC66-00678A DRUM-BACK;ARNO,STAINLESS-STS430,OD503,T0 1 SNA

..3 WS0006 DC97-16625A ASSY FLANGE SHAFT;ARNO,WF1124ZAC/XEF 1 SA

...4 WS0075 DC60-00099A FLANGE-SHAFT;ARNO,ALDC12,T3.5,PI486.5,GR 1 SNA

...4 WS0023 DC97-16626A ASSY SHAFT;ARNO,WF1124ZAC/XEF 1 SNA

....5 WS0065 DC61-03106A BUSH-SHAFT;ARNO,STAINLESS-STS430,ID38.5, 1 SNA

....5 WS0167 DC66-00676A SHAFT;ARNO,SM45C,HRB88,HEAT TEMP 1 SNA

1 WF0004 DC90-06013A ASSY FRAME;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 WX05186009-001342 SCREW-SPECIAL;TH,+,-,M5,L11,ZPC(WHT),SWR 2 SNA

.2 WX05586011-001644 BOLT-HEX;M10,L35,ZPC2(YEL),SM10C,DAMPER 4 SA

.2 DC61-00118A CLAMPER HOSE-FIX;P1291,NYLON66,ID27,OD30 1 SNA

.2 DC61-00133A CLAMPER HOSE-FIX;P1291,PP,ID24.5,OD29.5, 1 SNA

..3 0103-001846 RESIN-PP;BJ750,NTR,NC0001,HB 5 SNA

.2 WH5359DC61-00274A GUIDE-HOSE;P/PV/M,PP,-,-,-,WHT,FRAME/DRA 1 SA

..3 0103-004862 RESIN-PP;CNPK-P-100,NTR,NC0001 1 SNA

.2 WI0293 DC61-01736A HOLDER-WIRE;SEW-HKR149ATA,NYLON66,-,-,12 1 SA

.2 WI0383 DC61-02601A GUIDE-HOSE;DRUM-MIDIUM SIZE,EPP,T142,GRA 1 SA

.2 DC61-02879A HOLDER-WIRE;WF8804CPA,PA,L58.6,NATURAL 1 SA

.2 WI0293 DC61-40083A HOLDER-WIRE;DAWH-3ND,NYLON,NTR(PI25)/NYL 1 SNA

.2 WI0295 DC61-60074A HOLDER-WIRE;PA,NTR,NYLON#66(DAWS-6NB) 1 SA

..3 0103-002994 RESIN-PA;101F,NTR,NC0001,V2 1 SNA

.2 WA0001 DC63-01313A ABSORBER-SOUND;SCOUT2-PJT,PP,T10,W500,L4 1 SNA

.2 WB5216DC97-00920C ASSY LEG;SEW-HW108,AUSTRALIA MODELS,L48. 4 SC

..3 WJ0052 6021-001198 NUT-ETC;1C,M10,ZPC(YEL),SWRC10A,P1.5/WAH 4 SNA

..3 WB5216DC97-00920B ASSY LEG;SEW-DR605WB,BUILT-IN/BOLT+BUTYL 4 SNA

.2 WJ0007 DC97-14006A ASSY SCREW;WF203,-,SCREW-TAPPING,-,M4/L1 2 SA

.2 WF0015 DC97-14642A ASSY PLATE BOTTOM;-,-,NON LEAKAGE SENSOR 1 SA

..3 WI0156 DC61-01938A COVER-BOTTOM;HEBA-PJT,GI,T0.5,AEGIS-6Kg, 1 SNA

...4 0101-002932 STEEL-PLATE;GI,SGCC,0.8,Z12,NC 1 SNA

.2 WU5151DC97-16645A ASSY PUMP DRAIN;ARNO,WF1124ZAC/XEF 1 SA

..3 6002-001436 SCREW-TAPPING;PH,+,2,M4,L18,ZPC(WHT),SWR 6 SNA

..3 WU5008DC31-00030A PUMP-DRAIN;B20-6,220V,50Hz,-,HANYU 2 SA

..3 WU0023DC61-03082A CASE-PUMP;ARNO,PP,T2.5,W144.6,L165.17,WH 1 SA

..3 WI0107 DC61-10673A CAP-DRAIN;SWF-P12,PP,-,-,-,NTR,- 1 SNA

...4 0103-004862 RESIN-PP;CNPK-P-100,NTR,NC0001 1 SNA

..3 WI0203 DC63-00830A COVER-PUMP;COVER-PUMP,PP,T2.1,W60.5,L75, 2 SNA

...4 0103-003003 RESIN-PP;FB45C 0 SNA

..3 WO0031DC63-00905A CUSHION-PUMP;WF8802DPF/XET,NBR,-,W37.6,L 1 SNA

..3 DC67-00244H HOSE-DRAIN;WF1124ZAC,EPDM,ID6,OD11,T2.5, 1 SNA

..3 DC69-01770A PACKING-PUMP;ARNO-PJT,RUB-OTH,BUTYL,T2.5 1 SNA

..3 WW0006DC93-00150D ASSY WIRE HARNESS-PUMP;ARNO,WF1124ZAQ/XE 1 SA

6 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

..3 WA0006 DC97-16642A ASSY FILTER;ARNO,WF1124ZAC/XEF 1 SA

...4 WU0026DC63-01341A FILTER-PUMP;ARNO-PJT,PP,T2.0,W52.8,L123, 1 SNA

...4 WI0357 DC64-01317A HANDLE-FILTER;HANDLE-FILTER,PP,T2.5,W55, 1 SNA

....5 0103-003315 RESIN-FRPP;FH7300GM,NTR,NC0001 0 SNA

...4 DC73-00022A SEAL-PACKING;SEW-HVR149ATA,EPDM,BLK,40 1 SNA

..3 DD65-00001F CLAMPER HOSE;HSWR,D10.5/T1.2 1 SNA

.2 DC97-16680A ASSY HOSE DRAIN(O);ARNO,WF1124,ASSY,L185 1 SA

..3 WI0243 DC61-00519A GUIDE-CUFF D;874.062GL/YOD,PP,-,-,-,BLK, 1 SNA

..3 DC62-20023C ELBOW-HOSE;S821,TPE(L2K70NUI),-,-,-,-,-, 1 SNA

..3 WU0031DC62-20032B PIPE-PUMP;SWF-P12,POM,-,-,-,-,BLK,ID16 1 SNA

...4 0103-002618 RESIN-PP;BI451 0 SNA

..3 WH0017DC63-10003G ABSORBER SPONGE;HEBA,PE-FOAM,T12,W50,L35 1 SNA

..3 DC66-00180A BUSH-HOSE;-,TPE(EPDM+PP),ID19,OD22,-,-,B 1 SNA

..3 WH0013DC67-00330B HOSE-PUMP;WF8802DPF,PP,ID20.6,OD27,-,L18 1 SA

.2 WF0008 DC97-16692A ASSY FRAME PLATE(U);ARNO,WF1124ZAC/XEF 1 SA

..3 0203-001288 TAPE-FILAMENT;260,T0.16,W22,L50M,- 0 SNA

..3 WF0088 DC61-03081A FRAME-PLATE(U);ARNO-PJT,GI-SGCC,T1.2 1 SA

..3 WO0061DC72-00011P ABSORBER SPONGE;HEBA-COMBO,SPONGE-EPDM,T 1 SNA

.2 WF0002 DC97-16695A ASSY COVER BACK;ARNO,WF1124ZAC/XEF 1 SA

..3 WF0042 DC63-01348A COVER-BACK;ARNO,GI-SGCC,T0.35,W371.65,L5 1 SNA

...4 DC01-00066A SHEET-STEEL;WF9904RWE,GI,L594,T0.35,W390 1 SNA

..3 WO0061DC72-00034K ABSORBER SPONGE;SEW-HFR167AR,YOUNGBOARD, 2 SNA

.2 WF0004 DC97-16703A ASSY FRAME;ARNO,WF1124ZAC 1 SA

..3 6502-000127 CABLE CLAMP;DAWH-18NB,ID15,-,NYLON66,NTR 1 SNA

..3 WF0067 DC61-03086A FRAME;ARNO-PJT,GI-SGCC,WHT,T1.0,W598,L79 1 SNA

...4 WF0116 DC61-01922A C/STEEL-COLOR;HEBA-PJT,GI-SGCC,DA WHITE, 1 SNA

..3 WF0086 DC61-03087A FRAME-PLATE(L);ARNO-PJT,GI-SGCC,T1.0,2WA 1 SNA

...4 0101-002933 STEEL-PLATE;GI,SGCC,1,Z14,NC 1 SNA

..3 WP0034 DC97-16632A ASSY BRACKET LOWER(R);ARNO,WF1124ZAC/XEF 1 SNA

...4 WP0114 DC61-03089A BRACKET-LOWER(R);ARNO PJT,GI-SGCC,T1.6,W 1 SNA

..3 WP0033 DC97-16633A ASSY BRACKET LOWER(L);ARNO,WF1124ZAC/XEF 1 SNA

...4 WP0112 DC61-03090A BRACKET-LOWER(L);ARNO-PJT,GI-SGCC,T1.6,W 1 SNA

...4 WO0062DC72-00013N ABSORBER SPONGE;HEBA-PJT,PU-FOAM,T5.0,W5 2 SNA

..3 WP0037 DC97-16693A ASSY BRACKET SPRING(R);ARNO,WF1124ZAC/XE 1 SA

...4 WP0136 DC61-03092A BRACKET-SPRING(R);ARNO-PJT,GI-SGCC,T1.4, 1 SNA

....5 0101-002938 STEEL-PLATE;GI,SGCC,1.6,Z14,NC 0 SNA

..3 WP0036 DC97-16694A ASSY BRACKET SPRING(L);ARNO,WF1124ZAC/XE 1 SA

...4 WI0266 DC61-02065A GUIDE-SPRING;WF448AAG/XXA,POM,T4,W24,L25 1 SA

...4 WP0135 DC61-03093A BRACKET-SPRING(L);ARNO-PJT,GI-SGCC,T1.4, 1 SNA

1 WA0002 DC90-06014A ASSY ACCESSORY;ARNO PJT,WF1124ZAC/XEF 1 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 7



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.2 WO00126902-000212 BAG PE;HDPE,T0.03,W350,L450,TRP,8,2,-,44 1 SNA

.2 WJ5077 DC60-40146A BOLT-SPANER;-,CR,-,T2.5,OD36,-,-,-,- 1 SA

..3 0101-002960 STEEL-PLATE;PO,SHP1,2.6 69 SNA

.2 WH5379DC62-10278A HOSE-HANGER;PUMP MODEL,PP,BLK,RM60 RESIN 1 SA

.2 WA5001 DC67-00307A CAP-FIXER;WF438AAC/XAA,PP,T1.5,BLK,RM60 6 SC

..3 0103-007539 RESIN-PP;RM60,BLACK,BK0001 8 SNA

.2 WJ5109 DC97-14653C ASSY FIXER TUB;SCOUT,WF0804Y8E/XEF 4 SA

..3 DC60-40142B BOLT-HEX;SEW-3HR105,SM10C,HEX,L114.5,-,M 4 SNA

..3 WJ0083 DC60-60044B WASHER-PLAIN;-,SBC,ID8.4/OD30,T2.0,-,-,- 4 SNA

..3 DC61-01937C FIXER-TUB;WF8804,FRPP,T2.5,NTR,HEBA 4 SNA

..3 DC73-00035A FIXER-RUBBER;WF0804Y8E/XEF,EPDM,OD25/ID1 4 SNA

.2 WI0009 DC97-16128A ASSY COVER DRAWER;SCOUT,WF0704L7W/XEF,PP 1 SC

..3 WI0353 DC61-02581C GUIDE-LIQUID(M);WF1802XEC,PP,T2.0,W61,L1 1 SA

..3 WI0108 DC67-00524A CAP-DRAWER;WF0804Y8E/XEF,PP,T2.0,W27,L43 1 SA

...4 0103-003461 RESIN-PP;FC2305,NTR,NC0001 5 SNA

1 WO0006DC90-06016A ASSY PACKING;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 WX0629DC69-00367L SHEET-PE;HELIOS,PE-FOAM,T2,W800,L800 1 SNA

.2 WD0043DC69-00923B CUSHION-DOOR;DRUM,EPS,T8,W39,L65,WHT,DOO 1 SNA

.2 DC69-01721C PACKING CASE-SHRINKAGE;HEBA,LDPE,LDPE,T0 3 SNA

.2 WO0020DC69-01825A CUSHION-CORNER(F);WF1124ZAC,EPS,W666,L22 1 SNA

.2 DC69-01826A CUSHION-CORNER(R);WF1124ZAC,EPS,W718,L16 1 SNA

.2 DC69-90009A TAPE ETC;FILAMENT-TAPE,T0.15,W40,CLR 1 SNA

.2 WO0001DC98-01416A ASSY CUSHION BOTTOM;ARNO,WF1124ZAC/XEF 1 SNA

..3 DC69-01178C PACKING ANGLE;ARNO,PAPER,PULP,7,ID50,OD6 4 SNA

..3 WO0016DC69-01823A CUSHION-BOTTOM;WF1124ZAC,EPS,W666,L696,H 1 SNA

..3 WB0028DC69-20042Z PAD-BOTTOM;WF0800NCE,PAPER,W675,L650,SW1 1 SNA

..3 WO0123DC69-90008A TAPE OPP;T0.054,W50,YEL/WHT 3 SNA

.2 WO0004DC98-01417A ASSY CUSHION TOP;ARNO,WF1124ZAC/XEF 1 SNA

..3 DC69-01773A PACKING CASE-TOP;ARNO,CB,SW1,W660,L695,S 1 SNA

..3 WO0035DC69-01824A CUSHION-TOP;WF1124ZAC,EPS,W648,L690,H84, 1 SNA

1 WT0008 DC90-06017A ASSY TUB FRONT;ARNO PJT,WF1124ZAC/XEF 1 SNA

.2 WX04706002-001313 SCREW-HEX;HWH,+,-,M6.5,L25,ZPC(WHT),SWRC 14 SA

.2 WD0067DC64-02684A DOOR-DIAPHRAGM;ARNO-PJT,EPDM,T2.0,GRY,WA 1 SA

.2 DC65-00021A CLAMPER HOSE-JOINT;HEBA PJT,HSWR,-,ID74/ 1 SNA

.2 WJ0002 DC97-14618A ASSY CLAMP DIAPHRAGM;WF8804DP,OD2.0/L243 1 SA

.2 WT0004 DC97-16628A ASSY SEMI TUB FRONT;ARNO,WF1124ZAC/XEF 1 SA

..3 WT0042 DC61-03100A TUB-FRONT;ARNO PJT,FRPP,ID544,OD550,NTR 1 SNA

...4 0103-002442 RESIN-FRPP;2315SD,NTR,NC0001 2 SNA

..3 WH5017DC97-14873B ASSY HOSE AIR;HEBA,WF8702,-,L150,OD25,BL 1 SA

...4 DC61-00158A CLAMPER HOSE;SW65ASP,SK5,ID23,T0.8/YEL 1 SNA

8 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

...4 WJ0027 DC65-60118J CLIP-RING;HSWR,WHT,PI2.0/ID23 1 SNA

...4 WH5206DC67-00354A HOSE-AIR;HEBA PJT,EPDM,-,-,T2.5,-,BLK,7k 1 SA

..3 WH5375DC97-14874C ASSY HOSE DRAWER;HEBA BIGBANG,WF0800NCE, 1 SA

...4 WJ5109 DC61-00219G CLAMPER HOSE;HEBA BIGBANG,SK5,ID37/OD39/ 1 SNA

...4 WH5191DC67-00422A HOSE-DRAWER TUB;HEBA-PJT,EPDM,ID42.5,OD4 1 SC

...4 WJ0027 DC72-00001G CLIP-RING;HEBA-PJT,HSWR,T2.4,ID49.5,W18, 1 SNA

.2 WH5387DC97-16644A ASSY HOSE PRESSURE;ARNO,WF1124ZAC/XEF 1 SA

..3 WP0165 DC61-70029C SPRING-CLIP;SEW-HW125,HSWR,CD1.2,ID8.3,O 2 SA

..3 WH0017DC63-10003C ABSORBER SPONGE;SWF-P12,PU-FOAM,GRY 1 SNA

..3 WJ0027 DC65-60125B CLIP-RING;HSWR,T2.4,PI25,YEL 1 SNA

..3 DC67-00297A HOSE-JOINT AIR;HEBA & Aegis-PJT,PP,ID22,OD 1 SNA

...4 0103-001344 RESIN-PP;TB53,HB 0 SNA

..3 WH5388DC67-00576A HOSE-WATER;ARNO,TPE,ID4.5,OD10,T2.75,L88 1 SA

..3 WH0012DC67-00577A HOSE-FILTER TUB;ARNO,EPDM,T1.5,GRY 1 SA

..3 WJ0027 DC72-00001H CLIP-RING;HEBA-PJT,HSWR,PI3.0,ID35,WHT,H 1 SNA

.2 WE5189 DC97-16697A ASSY WEIGHT BALANCER-(R);ARNO,WF1124ZAC/ 1 SA

..3 DC67-00569A WEIGHT-BALANCER INNER(R);ARNO,CONCRETE,T 1 SNA

..3 DC67-00574A WEIGHT-BALANCER CASE(R);ARNO,PP,T2,W220, 1 SNA

.2 WE5190 DC97-16698A ASSY WEIGHT BALANCER-(L);ARNO,WF1124ZAC/ 1 SA

..3 DC67-00571A WEIGHT-BALANCER INNER(L);ARNO,CONCRETE,T 1 SNA

..3 DC67-00575A WEIGHT-BALANCER CASE(L);ARNO,PP,T2,W220, 1 SNA

.2 DC97-16722A ASSY HOSE-CIRCULATION;ARNO,WF1124ZAC,EPD 1 SA

..3 DC61-00158A CLAMPER HOSE;SW65ASP,SK5,ID23,T0.8/YEL 2 SNA

..3 WT0030 DC62-00296A SEAL-CONNECTOR;WF0804Y8E,EPDM,W9.5,L45.3 1 SNA

..3 DC65-00008A CLAMPER HOSE;SEW-DR605,SK5,-,-,YEL,ID14. 2 SNA

..3 DC67-00462A HOSE-CONNECTOR;WF0804Y8E,PP,NTR,SCOUT-PJ 1 SNA

..3 WH5389DC67-00568A HOSE-AIR TUB;ARNO-PJT,EPDM,T1.5,BLK 1 SA

..3 DC67-00579A HOSE-CIRCULATION;ARNO,EPDM,ID9.0,OD14.5, 1 SNA

1 WT0007 DC90-09979A ASSY TUB BACK;ARNO,WF2124ZAC/XEE 1 SNA

.2 WX04346002-000471 SCREW-TAPPING;TH,+,-,1,M4,L12,PASS,STS30 2 SA

.2 WS0060 6602-001497 BELT-TIMING GEAR;-,RUBBER(GATES),T3.4,-, 1 SA

.2 DC02-10013A CHEMICALS-S.GREASE;YG3058,SILICON 0 SNA

.2 WE5177 DC32-00010C THERMISTOR;11982OHM AT 25-55~155,5,1 1 SA

.2 WS0064 DC61-02549A BUSH-MOTOR;HEBA BIGBANG,NYLON,ID16,OD19, 2 SNA

..3 0103-002637 RESIN-PA;NY66,NTR,NC0001,PA 5 SNA

.2 WP0099 DC61-02664A BRACKET-HEATER;HEBA,STAINLESS-STS430,T0. 1 SA

.2 WB5214DC66-00343K DAMPER-SHOCK;GE24"-PJT,PP,60N,W24,L127,B 2 SA

.2 WS0109 DC66-00530B PULLEY-MOTOR;HEBA BIGBANG,ALDC12,OD296.8 1 SA

..3 0102-001571 ALUMINUM-INGOT;ALDC12,0.85,- 0 SNA

.2 WE0115 DC69-00824A PACKING-THERMISTOR;GW-PJT,EPDM,EPDM,-,W1 1 SA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 9



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.2 WE0010 DC93-00281A ASSY HEATER;ARNO,230V/2000W,CERAMIC/GREE 1 SNA

..3 WJ0083 6031-001531 WASHER-PLAIN;SCP1,ID7,OD14,T1.2,ZPC2(YEL 1 SNA

..3 WE0155 DC47-00033A HEATER-WASH;HEBA,SUS316L+CERAMIC COATING 1 SA

..3 WI0293 DC61-40083A HOLDER-WIRE;DAWH-3ND,NYLON,NTR(PI25)/NYL 1 SNA

..3 WE0060 DC63-01340A COVER-HEATER;ARNO,PP,T3.0,W122.0,L66.2,V 1 SA

.2 DC93-00316A ASSY MOTOR-BLDC;ARNO,WDM500FGB,F,DC310V, 1 SA

..3 6001-002674 SCREW-MACHINE;TH,+,NO,M4,L10,ZPC(WHT),SW 2 SNA

..3 6011-004740 BOLT-ETC;M5,L 50/60/75,SWCH 10A,LOCK,SWA 4 SNA

..3 WJ0089 6031-002135 WASHER-WAVE;SK5,ID29.4,OD33.7,T0.6,A.C.P 1 SNA

..3 WI0294 DC61-00553B HOLDER-WIRE SADDLE;PA,NTR,DAWS-3NE 1 SA

..3 DC61-03318A HOUSING-BEARING RE;WDM500FGB,ALDC,T2.5,W 1 SNA

..3 DC62-00340A INSULATION-TERMINAL;WDM500FGB,PBT,T4.0,W 1 SNA

...4 DC37-01004A CONNECTOR-BUS BAR;WDM500FGB,T0.8,W19.4,L 3 SNA

...4 DC90-09813A ASSY-MOLD;ARNO,WDM500FGB (F3) 9 SNA

..3 DC93-00314A ASSY STATOR;DC310V,INVERTER,50PN1300(S60 1 SNA

...4 0201-002484 ADHESIVE-UV;Loctite-3335-EN 0 SNA

...4 3812-001506 WIRE-ENAMELLED AL;H AI-EIW, AL,0.8 0 SNA

...4 DC37-01001A CONNECTOR-MAGMATE;#15,1P,WDM500FGA,T0.40 3 SNA

...4 DC37-01002A CONNECTOR-MAGMATE;#15,3P,WDM500FGA,T0.40 1 SNA

...4 DC62-00341A INSULATION-UPPER;WDM500FGB,PBT,T2.5,W111 1 SNA

...4 DC62-00342A INSULATION-LOWER;WDM500FGB,PBT,T1.0,W102 1 SNA

...4 DC62-00347A INSULATION-SLOT;WDM500FGB,DMD232,T0.28,W 12 SNA

....5 DC62-00346A INSULATION-FILM;WDM500FGB,DMD232,T0.28,5 1 SNA

...4 DC97-17002A ASSY CORE STATOR;ARNO,WDM500FGB,T 35/46/ 1 SNA

....5 DC31-00145A CORE STATOR;WDM500FGB,T0.5,W110,L110,50P 93 SNA

..3 DC97-16999A ASSY ROTOR;ARNO,WDM500FGB,phi60, t 35/46 1 SNA

...4 WS0051 6601-001662 BEARING-BALL;6202ZZ,ID15,OD35,L11,380kgf 2 SNA

...4 WS0128 DC66-00683A SHAFT-PULLEY;WDM500FGA,SM45C,L28.3,OD24. 1 SNA

...4 DC93-00308A ASSY ROTOR MOLD;ARNO,WF1124ZAC/XEF 1 SNA

....5 3302-001890 MAGNET-FERRITE;FERRITE,4150Gauss,4.1MGOe 8 SNA

....5 DC90-09814A ASSY-MOLD;ARNO,WDM500FGB 70 SNA

....5 DC97-17009A ASSY SUB ROTOR;ARNO,WDM500FGB,t 30/46/60 1 SNA

.....6 WS0167 DC66-00732A SHAFT;WDM500FGB,SM45C,L178,HRC58,OD 15.0 1 SNA

.....6 DC97-17001A ASSY CORE ROTOR;ARNO,WDM500FGB,46mm 1 SNA

......7 DC31-00146A CORE ROTOR;WDM500FGB,50PN1300(S60),T0.5, 93 SNA

..3 DC97-17008A ASSY HOUSING FR;ARNO,WDM500FGB 1 SNA

...4 DC61-03317A HOUSING-BEARING FR;WDM500FGB,ALDC,T2.5,W 1 SNA

...4 DC67-00587A RUBBER-HOUSING;WDM500FGA,NR,ID14,OD26,T3 2 SNA

.2 WW5711DC96-01327D ASSY WIRE HARNESS;ARNO,WF1124ZAQ/XEF,220 1 SA

.2 WJ5031 DC97-06080A ASSY BOLT;SEW-3HR107,BOLT+WASHER,-,-,-,- 1 SA

10 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.2 WJ5013 DC97-14263A ASSY BOLT;HEBA-PJT,MOTOR/BOLT(M8)+WASHER 7 SA

.2 WE5188 DC97-16702A ASSY WEIGHT BALANCER-(U);ARNO,WF1124ZAC, 1 SA

..3 DC67-00572A WEIGHT-BALANCER INNER(U);ARNO-PJT,PP,W47 1 SNA

..3 DC67-00573A WEIGHT-BALANCER CASE(U);ARNO-PJT,PP,T2,W 1 SNA

.2 WT0007 DC97-16708A ASSY TUB BACK;ARNO,WF1124ZAC 1 SA

..3 WS0051 6601-000148 BEARING-BALL;6206ZZ,ID30,OD62,L16,STB2 1 SNA

..3 WS0051 6601-002637 BEARING-BALL;6207ZZ,ID35,OD72,GCr15 1 SNA

..3 WS0119 DC62-00156A SEAL-OIL;TS85-PJT,NBR(SD45.5),BLK,-,-,-, 1 SA

..3 WO0055DC69-01769A PACKING-TUB;ARNO,EPDM,EPDM,T5.5,L1720,BL 1 SA

..3 WT0003 DC97-16726A ASSY SEMI TUB BACK;ARNO,WF1124ZAC 1 SNA

...4 WT0039 DC61-03083A TUB-BACK;ARNO,FRPP,OD271.8,T3.5,NTR 1 SNA

....5 0103-002442 RESIN-FRPP;2315SD,NTR,NC0001 5 SNA

...4 WS0009 DC97-16627A ASSY HOUSING BEARING;ARNO,WF1124ZAC/XEF 1 SNA

....5 WS0063 DC61-01196A BUSH-BEARING;GW-PJT,SMF-4030,SM15C,ID72, 1 SNA

....5 WS0083 DC61-03095A HOUSING-BEARING;ARNO,ALDC,1600RPM 1 SNA

1 WC0016DC90-10935A ASSY PANEL CONTROL;ARNO,WF1114XBD/XEF 1 SNA

.2 WX04276002-000445 SCREW-TAPPING;TH,+,2,M4,L18,PASS,STS304 2 SA

.2 WX04416002-000520 SCREW-TAPPING;TH,+,-,2,M4,L12,ZPC(WHT),S 3 SA

.2 WZ0025 DC92-00676A ASSY PCB SUB;ARNO,WF1124XBC,12KG,230V/50 1 SA

..3 WZ0050 DC94-00971A ASSY PCB MANUAL;ARNO,WF1124ZAC,12KG,230V 1 SNA

...4 0201-002354 ADHESIVE-COM;1-2577,Translucent,950 8 SNA

...4 0202-001338 SOLDER-BAR;LeeD-free Solder BAR,W20L350H 5 SNA

...4 0202-001463 SOLDER-WIRE;LFC2-W3.0,-,D3,99.79Sn/0.2Cu 5 SNA

...4 0204-005180 FLUX;ILF-714,MIXTURE,~99.5%,18L,(0.823) 5 SNA

...4 0204-005225 SOLVENT;IT-700,R-OH,100%,0.786 5 SNA

...4 WE0105 1203-001943 IC-VOL. DETECTOR;7025,TO-92,3P,PLASTIC,4 1 SNA

...4 3002-001129 BUZZER-PIEZO;85dB,2KHz,BK 1 SNA

...4 WE0137 3406-001130 SWITCH-ROTARY;5VDC,0.5mA,1,12mm 1 SNA

...4 3711-000012 HEADER-BOARD TO CABLE;BOX,4P,1R,2.5MM,ST 1 SNA

...4 WX04196002-000239 SCREW-TAPPING;TH,+,NO,2S,M4,L8,ZPC(WHT), 2 SA

...4 WC0113DC07-00125A LED DISPLAY;DGD-D9031G-A,VOLGA-BEST,ARNO 1 SNA

...4 WC0088DC61-03097A GUIDE-LED;ARNO,HIPS,T1.5,W22.2,L77.2,H13 1 SA

...4 WP0088 DC61-03098A BRACKET-ENCODER;ARNO,HIPS,T1.5,W75.8,L78 1 SA

....5 0103-003269 RESIN-HIPS;VE-1877,NTR,NC0001,V0-1.5 0 SNA

...4 WI0259 DC61-03145A GUIDE-PCB(S);WF1124ZAC/XEF,HIPS,T2.5,W32 1 SNA

...4 WO0095DC68-02310A LABEL-BAR CODE;SEW-6HR128ATC,ART,W45,L15 1 SNA

...4 DC93-00254A ASSY WIRE HARNESS;ARNO,240/50,13PIN,L190 1 SNA

...4 DC93-00255A ASSY WIRE HARNESS;ARNO,240/50,11PIN,L190 1 SNA

...4 WZ0005 DC94-00970A ASSY PCB AUTO;ARNO,WF1124ZAC,12KG,230V/5 1 SNA

....5 0401-000005 DIODE-SWITCHING;1N4148,75V,150mA,DO-35,T 13 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 11



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

....5 0406-000129 DIODE-TVS;P6KE6.8A,6.45/6.8/7.14V,600W,D 1 SNA

....5 WC0112 0601-002668 LED;Round,Red,3mm,645nm,3.86x24mm 18 SNA

....5 2001-000037 R-CARBON(S);330ohm,5%,1/2W,AA,TP,2.4x6.4 3 SNA

....5 2001-000109 R-CARBON(S);470ohm,5%,1/2W,AA,TP,2.4x6.4 9 SNA

....5 2001-000290 R-CARBON;10Kohm,5%,1/8W,AA,TP,1.8x3.2mm 2 SNA

....5 2001-000429 R-CARBON;1Kohm,5%,1/8W,AA,TP,1.8x3.2mm 4 SNA

....5 2001-000734 R-CARBON;4.7Kohm,5%,1/8W,AA,TP,1.8x3.2mm 4 SNA

....5 WE0174 2401-000287 C-AL;100uF,20%,16V,WT,TP,6.3x11,5 2 SNA

....5 WE0174 2401-000303 C-AL;100uF,20%,25V,WT,TP,6.3x11mm,5mm 1 SNA

....5 WE0174 2401-003607 C-AL;10UF,20%,50V,HR,TP,5X11MM,5 1 SNA

....5 2801-001375 CRYSTAL-UNIT;10MHz,20ppm,28-AAA,16pF,45o 1 SNA

....5 WE0139 3404-001354 SWITCH-TACT;12VDC,50mA,200gf,8x13mm,SPST 11 SNA

....5 DC94-00972A ASSY PCB SMD;ARNO,WF1124ZAC,12KG,230V/50 1 SNA

.....6 0401-000132 DIODE-SWITCHING;BAV99,75V,50mA,SOT-23,TP 2 SNA

.....6 0402-001741 DIODE-RECTIFIER;S1M,1000V,1A,SMA,TP 1 SNA

.....6 0501-000465 TR-SMALL SIGNAL;MMBT3904,NPN,350mW,SOT-2 1 SNA

.....6 0501-000467 TR-SMALL SIGNAL;MMBT3906,PNP,350mW,SOT-2 1 SNA

.....6 WE0146 0504-001008 TR-DIGITAL;RN2427,PNP,200mW,2.2K/10Kohm, 7 SNA

.....6 WE0146 0504-001080 TR-DIGITAL;KRC246S,NPN,200mW,2.2K/10Kohm 8 SNA

.....6 RW792 0506-000175 TR-ARRAY;2003,NPN,7,1W,SOP-16,ST,1000 2 SNA

.....6 WE0100 0801-000168 IC-CMOS LOGIC;4069,INVERTER,SOP,14P,8.65 1 SNA

.....6 1003-001462 IC-SOURCE DRIVER;TD62783AFWG,SOL,18P,8,- 1 SNA

.....6 1203-001695 IC-POSI.FIXED REG.;5209,SOP,8P,150MIL,PL 1 SNA

.....6 1203-002739 IC-POSI.FIXED REG.;KIA78D033F,DPAK,3P,6. 1 SNA

.....6 2007-000033 R-CHIP;0ohm,5%,1/4W,TP,3216 8 SNA

.....6 2007-000290 R-CHIP;100ohm,5%,1/8W,TP,2012 8 SNA

.....6 2007-000297 R-CHIP;10Kohm,1%,1/8W,TP,2012 1 SNA

.....6 2007-000300 R-CHIP;10Kohm,5%,1/8W,TP,2012 6 SNA

.....6 2007-000468 R-CHIP;1Kohm,5%,1/8W,TP,2012 3 SNA

.....6 2007-000477 R-CHIP;1Mohm,5%,1/8W,TP,2012 2 SNA

.....6 2007-000493 R-CHIP;2.2Kohm,5%,1/8W,TP,2012 3 SNA

.....6 2007-000872 R-CHIP;4.7Kohm,5%,1/8W,TP,2012 11 SNA

.....6 2203-000206 C-CER,CHIP;100nF,10%,50V,X7R,TP,2012 11 SNA

.....6 2203-000239 C-CER,CHIP;0.1nF,5%,50V,C0G,TP,2012 1 SNA

.....6 2203-000260 C-CER,CHIP;10nF,10%,50V,X7R,TP,2012 2 SNA

.....6 2203-000444 C-CER,CHIP;1nF,10%,50V,X7R,TP,2012 2 SNA

.....6 2203-000634 C-CER,CHIP;0.022nF,5%,50V,C0G,TP,2012 2 SNA

.....6 2203-000889 C-CER,CHIP;4.7nF,10%,50V,X7R,TP,2012 7 SNA

.....6 2203-005029 C-CER,CHIP;0.47nF,5%,50V,X7R,TP,2012 4 SNA

.....6 2203-006960 C-CER,CHIP;1000nF,10%,50V,X7R,TP,2012 5 SNA

12 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.....6 DC41-00177C PCB SUB;ARNO G.LED SUB,FR-1,1,1.0,T1.6,W 1 SNA

.....6 DC92-01092A ASSY MICOM;Sub Micom,3U0E 1 SNA

......7 WE0118 DC13-00236A PLD-MICOM;SCS8AC60,QFP,64 1 SNA

..3 DC98-01426A ASSY PCB PACKING;ARNO,LED DISPLAY,FR-1,S 1 SNA

.2 WC0016DC97-16908Q ASSY PANEL CONTROL;ARNO JR,WF1114XBD,BET 1 SA

..3 WC0135DC64-02674A WINDOW-ENCODER;ARNO,PC,T2.0,R35,H6,TRANS 1 SNA

..3 WC0097DC64-02729A INLAY-ENCODER;WF1124XAC,PET,T0.188,OD69. 1 SA

..3 WC0122DC64-02760Q PANEL-CONTROL;WF1114XBD/XEF,ABS,T3.0,W59 1 SA

..3 WC0001DC97-17044B ASSY BUTTON;ARNO,LED,BUTTONLESS 1 SA

...4 DC02-10013A CHEMICALS-S.GREASE;YG3058,SILICON 0 SNA

...4 WC0088DC61-03350A GUIDE-LED;ARNO,ABS,T1.5,W88,L31 1 SNA

...4 DC63-01471A COVER-BUTTON(U);ARNO,ABS,T1.5,W188,L113. 1 SNA

...4 DC63-01472A COVER-BUTTON(L);ARNO,ABS,T2,W188.5,L109 1 SNA

...4 WC0053DC64-02676A BUTTON-PUSH(F);ARNO,ABS,25X15X15,DA WHIT 1 SNA

...4 WC0053DC64-02677A BUTTON-PUSH(F);ARNO,ABS,24X17X14,DA WHIT 1 SNA

...4 WC0053DC64-02678A BUTTON-PUSH(F);ARNO,ABS,24X17X14,DA WHIT 1 SNA

...4 WC0053DC64-02679A BUTTON-PUSH(F);ARNO,ABS,25X17X12,DA WHIT 1 SNA

...4 WC0140DC64-02682B WINDOW-PANEL;ARNO,PC,T2.0,FRENCH,TRANSPA 1 SA

...4 DC69-90009A TAPE ETC;FILAMENT-TAPE,T0.15,W40,CLR 0 SNA

.2 WC0009DC97-16996A ASSY KNOB ENCODER;BAIKAL-PJT,WF702Y4BKWD 1 SA

..3 WC0101DC64-01927B KNOB-ENCODER;WF702Y4BKWQ/LP,ABS,T2.5,W49 1 SNA

..3 WC0077DC64-02800A DECORATION-ENCODER;BAIKAL-PJT,ABS,T2.5,N 1 SNA

1 DC90-10936A ASSY BUYER;ARNO,WF1114XBD/XEF 1 SNA

.2 WO00126902-000009 BAG PE;HDPE,T0.03,W240,L400,TRP,8,2,-,5. 1 SNA

.2 WA0018 DC68-00716B CARD-WARRANTY;S-AM,PAPER,W148,L200,COMMO 1 SNA

.2 DC68-02060A LABEL-TUB;W/M,-,YUPO,-,W60,L20,-,WHT,-,- 1 SNA

.2 WO0095DC68-02067A LABEL-BAR CODE;SAMSUNG,ART-PAPER,W40,L20 1 SNA

.2 WO0113DC68-02173E LABEL-PACKING;WF448,YUPO,W155,L65,WHT,EX 2 SNA

.2 WO0081DC68-02419A LABEL RATING;ALL MODEL,WH PET,W80,L60,WH 1 SNA

.2 WO0085DC68-03039L LABEL-ENERGY;WF1114XBD,XEO,ART,W110,L210 1 SNA

.2 DC68-03165F MANUAL USERS;WF1114XBD,XEF,FRENCH,FRANCE 1 SNA

.2 WE0016 DC96-00146A ASSY POWER CORD;UCP2,250V/16A,-,1500/EUR 1 SC

.2 DC97-16921A ASSY HOSE WATER;HEBA,WF8804,REFLEX,L1450 1 SA

1 DC90-11391A ASSY INNER;ARNO F3,WF1124XAC/XEU 1 SNA

.2 WX04126002-000213 SCREW-TAPPING;TH,+,1,M4,L12,ZPC(WHT),SWR 2 SNA

.2 S0025 6002-000234 SCREW-TAPPING;TH,+,NO,2S,M4,L16,ZPC(WHT) 1 SNA

.2 WX06226002-001306 SCREW-TAPPING;TH,+,1,M4,L14,ZPC(WHT),SWR 4 SA

.2 6003-001768 SCREW-TAPTYPE;TH,+,WT,S,M4,L10,ZPC(WHT), 2 SNA

.2 WX05196009-001343 SCREW-SPECIAL;PH,TORX,M4,L10,ZPC(WHT),SW 1 SNA

.2 DC02-10025A CHEMICALS-GREASE;PETAMO(GHY-133) 0 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 13



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.2 DC29-00015G FILTER EMI;LFT-215G,250V,15,53*53*97,50/ 1 SA

.2 WF0102 DC61-03099A SPRING ETC-HANGER;ARNO,HSWR,CD3.5,ID24.8 2 SA

.2 WI0196 DC63-01345A COVER-PCB(M);ARNO,HIPS,T2.5,NTR,VE-1877( 1 SA

.2 DC92-00969A ASSY PCB MAIN INVERTER;ARNO SENSORLESS,8 1 SA

..3 0202-001463 SOLDER-WIRE;LFC2-W3.0,-,D3,99.79Sn/0.2Cu 8 SNA

..3 0202-001492 SOLDER-WIRE FLUX;HSE-02 LFM48 SR-34 S,-, 3 SNA

..3 0204-003174 SOLVENT;S-E70,R-OH,100%,0.790 1 SNA

..3 0204-005180 FLUX;ILF-714,MIXTURE,~99.5%,18L,(0.823) 6 SNA

..3 0204-005225 SOLVENT;IT-700,R-OH,100%,0.786 6 SNA

..3 WC00941203-007208 IC-PWM CONTROLLER;ICE2QR2280Z,DIP,7P,9.5 1 SNA

..3 1404-000230 THERMISTOR-PTC;27ohm,20%,-,265V,1.5A,360 1 SNA

..3 2009-001235 R-METAL PLATE;0.062ohm,1%,5W,CB,BK,14x5x 3 SNA

..3 2201-000879 C-CERAMIC,DISC;2.2nF,10%,1000V,Y5P,10x4m 3 SNA

..3 WE0174 2401-004795 C-AL;820uF,20%,250V,BK,25.4x40mm,10mm 2 SNA

..3 WE0121 3501-001154 RELAY-MINIATURE;12V,200mW,3000mA,1FormA, 3 SNA

..3 WE0122 3501-001268 RELAY-POWER;12V,0.9W,25000mA,1FormA,20ms 2 SNA

..3 3502-000115 SSR;12V,2A,1ms,1ms 1 SNA

..3 WE0083 3601-001636 FUSE;250V,6.3A,TIME-LAG,GLASS/RED LINE,5 1 SNA

..3 3711-000832 HEADER-BOARD TO CABLE;BOX,2P,1R,8MM,STRA 1 SNA

..3 3711-005221 HEADER-BOARD TO CABLE;BOX,10P,2R,4.2MM,S 1 SNA

..3 3711-005328 HEADER-BOARD TO CABLE;BOX,3P,1R,10MM,STR 1 SNA

..3 3711-005690 HEADER-BOARD TO CABLE;BOX,10P,1R,2.5mm,S 1 SNA

..3 3711-007174 HEADER-BOARD TO CABLE;BOX,3P,1R,6.5mm,ST 1 SNA

..3 WE0143 DC26-00043A TRANS SWITCHING;ECO2020SEO-K01V017,85V-2 1 SNA

..3 WI0258 DC61-03104A GUIDE-PCB(M);ARNO,HIPS,T2.5,NTR,VE-1877( 1 SNA

...4 0103-003269 RESIN-HIPS;VE-1877,NTR,NC0001,V0-1.5 0 SNA

..3 WO0095DC68-02310A LABEL-BAR CODE;SEW-6HR128ATC,ART,W45,L15 2 SNA

..3 WZ0010 DC92-00968A ASSY PCB MAIN;ARNO SENSORLESS,8KG,220V/5 1 SNA

...4 DC02-00043A COATING;DP-460BK-H,18020 poise,Black,7 0 SNA

...4 DC94-02380A ASSY PCB SMD;ARNO SENSORLESS,8KG,220V/50 1 SNA

....5 0202-001278 SOLDER-CREAM;M705-221BM5-32-11,20~40um p 0 SNA

....5 0401-000132 DIODE-SWITCHING;BAV99,75V,50mA,SOT-23,TP 3 SNA

....5 0401-001099 DIODE-SWITCHING;1N4148WS,75V,150mA,SOD-3 1 SNA

....5 0501-000465 TR-SMALL SIGNAL;MMBT3904,NPN,350mW,SOT-2 1 SNA

....5 0501-000467 TR-SMALL SIGNAL;MMBT3906,PNP,350mW,SOT-2 1 SNA

....5 WE0146 0504-001008 TR-DIGITAL;RN2427,PNP,200mW,2.2K/10Kohm, 1 SNA

....5 WE0146 0504-001080 TR-DIGITAL;KRC246S,NPN,200mW,2.2K/10Kohm 1 SNA

....5 RW792 0506-000175 TR-ARRAY;2003,NPN,7,1W,SOP-16,ST,1000 2 SNA

....5 WE0103 1103-001183 IC-EEPROM;24C04,4Kbit,512x8,SOP,8P,5x4mm 1 SNA

....5 2007-000074 R-CHIP;100ohm,5%,1/10W,TP,1608 15 SNA

14 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

....5 2007-000078 R-CHIP;1Kohm,5%,1/10W,TP,1608 3 SNA

....5 2007-000084 R-CHIP;4.7Kohm,5%,1/10W,TP,1608 3 SNA

....5 2007-000090 R-CHIP;10Kohm,5%,1/10W,TP,1608 20 SNA

....5 2007-000124 R-CHIP;2.2Kohm,5%,1/10W,TP,1608 2 SNA

....5 2007-000297 R-CHIP;10Kohm,1%,1/8W,TP,2012 3 SNA

....5 2007-000309 R-CHIP;10ohm,5%,1/10W,TP,1608 22 SNA

....5 2007-000468 R-CHIP;1Kohm,5%,1/8W,TP,2012 1 SNA

....5 2007-000669 R-CHIP;2Kohm,1%,1/10W,TP,1608 3 SNA

....5 2007-007847 R-CHIP;16Kohm,1%,1/10W,TP,1608 6 SNA

....5 2203-000257 C-CER,CHIP;10nF,10%,50V,X7R,TP,1608 1 SNA

....5 2203-000440 C-CER,CHIP;1nF,10%,50V,X7R,TP,1608 10 SNA

....5 2203-000634 C-CER,CHIP;0.022nF,5%,50V,C0G,TP,2012 2 SNA

....5 2203-000888 C-CER,CHIP;4.7nF,10%,50V,X7R,TP,1608 1 SNA

....5 2203-005249 C-CER,CHIP;100nF,10%,50V,X7R,TP,1608 16 SNA

....5 2203-006377 C-CER,CHIP;4700nF,10%,25V,X5R,TP,2012 3 SNA

....5 2203-006960 C-CER,CHIP;1000nF,10%,50V,X7R,TP,2012 2 SNA

....5 2801-003923 CRYSTAL-SMD;10MHz,30ppm,28-AAN,20pF,60oh 1 SNA

....5 3711-006044 HEADER-BOARD TO CABLE;BOX,11P,1R,2mm,SMD 1 SNA

....5 DC41-00191A PCB MAIN-INVERTER;ARNO Sensorless Contro 1 SNA

....5 DC92-01106A ASSY MICOM;Arno F3 Sensorless main Micom 1 SNA

.....6 WE0118 DC13-00241A PLD-MICOM;TMPM370FYAFG,QFP,100 1 SNA

..3 DC93-00143B ASSY HEAT SINK1;HEATSINK(DC62-00276A),D1 1 SNA

...4 WE0066 0402-001224 DIODE-BRIDGE;TS15P05G,D15XB60,600V,15A,S 1 SNA

...4 WE0088 DC62-00276A HEAT SINK;AL6063,11,35,WHITE,30 1 SNA

..3 DC93-00334A ASSY HEAT SINK;HEAT SINK,DC13-00253A, DC 1 SNA

...4 DC13-00253A IC HYBRID-IPM;IKCM15F60GA,24,-40 ~ +125, 1 SNA

...4 WE0089 DC62-00272C HEAT SINK-IPM;AL6063,40,80.3,BLACK,39.5 1 SNA

..3 DC94-02383A ASSY PCB SMD;ARNO SENSORLESS,8KG,220V/50 1 SNA

...4 0201-001354 ADHESIVE-A.C.F;SMT-GLUE,-,-,HT-130D 2 SNA

...4 0401-001099 DIODE-SWITCHING;1N4148WS,75V,150mA,SOD-3 6 SNA

...4 0402-001741 DIODE-RECTIFIER;S1M,1000V,1A,SMA,TP 1 SNA

...4 0404-001507 DIODE-SCHOTTKY;KDR357,45V,100mA,USC 3 SNA

...4 0501-000467 TR-SMALL SIGNAL;MMBT3906,PNP,350mW,SOT-2 1 SNA

...4 WE0146 0504-001008 TR-DIGITAL;RN2427,PNP,200mW,2.2K/10Kohm, 1 SNA

...4 WE0146 0504-001080 TR-DIGITAL;KRC246S,NPN,200mW,2.2K/10Kohm 3 SNA

...4 0604-001405 PHOTO-COUPLER;TR,200-400%,200mW,SOP-4,TP 7 SNA

...4 1202-000143 IC-VOLTAGE COMP.;75S393,SOP,5P,-,SINGLE, 1 SNA

...4 2007-000033 R-CHIP;0ohm,5%,1/4W,TP,3216 9 SNA

...4 2007-000290 R-CHIP;100ohm,5%,1/8W,TP,2012 2 SNA

...4 2007-000293 R-CHIP;100ohm,5%,1/4W,TP,3216 5 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 15



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

...4 2007-000300 R-CHIP;10Kohm,5%,1/8W,TP,2012 2 SNA

...4 2007-000312 R-CHIP;10ohm,5%,1/4W,TP,3216 1 SNA

...4 2007-000401 R-CHIP;150ohm,5%,1/8W,TP,2012 1 SNA

...4 2007-000409 R-CHIP;15Kohm,5%,1/8W,TP,2012 1 SNA

...4 2007-000468 R-CHIP;1Kohm,5%,1/8W,TP,2012 3 SNA

...4 2007-000493 R-CHIP;2.2Kohm,5%,1/8W,TP,2012 1 SNA

...4 2007-000511 R-CHIP;2.4Kohm,5%,1/8W,TP,2012 1 SNA

...4 2007-000650 R-CHIP;27Kohm,1%,1/8W,TP,2012 1 SNA

...4 2007-000653 R-CHIP;27Kohm,5%,1/8W,TP,2012 1 SNA

...4 2007-000671 R-CHIP;2Kohm,5%,1/8W,TP,2012 7 SNA

...4 2007-000682 R-CHIP;3.3Kohm,1%,1/8W,TP,2012 1 SNA

...4 2007-000686 R-CHIP;3.3Kohm,5%,1/8W,TP,2012 6 SNA

...4 2007-000700 R-CHIP;3.6Kohm,1%,1/8W,TP,2012 1 SNA

...4 2007-000872 R-CHIP;4.7Kohm,5%,1/8W,TP,2012 3 SNA

...4 2007-000950 R-CHIP;47ohm,5%,1/4W,TP,3216 3 SNA

...4 2203-000206 C-CER,CHIP;100nF,10%,50V,X7R,TP,2012 17 SNA

...4 2203-000239 C-CER,CHIP;0.1nF,5%,50V,C0G,TP,2012 1 SNA

...4 2203-000260 C-CER,CHIP;10nF,10%,50V,X7R,TP,2012 1 SNA

...4 2203-000444 C-CER,CHIP;1nF,10%,50V,X7R,TP,2012 2 SNA

...4 2203-000575 C-CER,CHIP;220nF,10%,25V,X7R,TP,2012 1 SNA

...4 2203-006960 C-CER,CHIP;1000nF,10%,50V,X7R,TP,2012 3 SNA

...4 3502-001075 SSR;6V,0.3A,0.1ms,1ms 3 SNA

...4 WZ0005 DC94-02381A ASSY PCB AUTO;ARNO SENSORLESS,8KG,220V/5 1 SNA

....5 0402-000012 DIODE-RECTIFIER;UF4007,1000V,1A,DO-41,TP 5 SNA

....5 0402-000137 DIODE-RECTIFIER;1N4007,1000V,1A,DO-41,TP 2 SNA

....5 0402-001624 DIODE-RECTIFIER;SF26,400V,2A,DO-15,TP 3 SNA

....5 0403-000155 DIODE-ZENER;1N4748A,5%,1000MW,DO-41,TP 1 SNA

....5 0406-001284 DIODE-TVS;P6KE24A,22.8/24/25.2V,600W,DO- 1 SNA

....5 1203-000002 IC-POSI.ADJUST REG.;431,TO-92,3P,-,PLAST 1 SNA

....5 2001-000034 R-CARBON;220ohm,5%,1/4W,AA,TP,2.4x6.4mm 4 SNA

....5 2001-000073 R-CARBON;33Kohm,5%,1/4W,AA,TP,2.4x6.4mm 1 SNA

....5 2001-000085 R-CARBON(S);100Kohm,5%,1/2W,AA,TP,2.4x6. 2 SNA

....5 2001-000281 R-CARBON;100ohm,5%,1/8W,AA,TP,1.8x3.2mm 6 SNA

....5 2001-000449 R-CARBON;2.2Kohm,5%,1/8W,AA,TP,1.8x3.2mm 1 SNA

....5 2001-001178 R-CARBON(S);680ohm,5%,1/2W,AA,TP,2.4x6.4 3 SNA

....5 WA002 2003-000422 R-METAL OXIDE(S);1.2ohm,5%,2W,AA,TP,4x12 1 SNA

....5 2003-002299 R-METAL OXIDE;240Kohm,5%,1W,AC,TP,3.3x9. 2 SNA

....5 2004-001029 R-METAL;5.76Kohm,1%,1/4W,AA,TP,2.4x6.4mm 1 SNA

....5 2009-001208 R-METAL GLAZE;270Kohm,1%,1W,AA,TP,3.5x9. 2 SNA

....5 2009-001220 R-METAL GLAZE;150Kohm,5%,2W,AA,TP,4x12mm 2 SNA

16 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

....5 2201-000154 C-CERAMIC,DISC;10nF,+80-20%,2000V,Y5P,20 1 SNA

....5 2301-000131 C-FILM,LEAD-PEF;100nF,5%,630V,TP,27.5x12 1 SNA

....5 WE0174 2401-000318 C-AL;100uF,20%,25V,LZ,TP,8x11.5,5 2 SNA

....5 WE0174 2401-000970 C-AL;22uF,20%,50V,WT,TP,5x11,5 4 SNA

....5 WE0174 2401-002274 C-AL;220uF,20%,35V,WT,TP,10x12.5,5 1 SNA

....5 WE0174 2401-002438 C-AL;47uF,20%,50V,WT,TP,6.3x11,5mm 1 SNA

....5 WE0174 2401-003139 C-AL;1000uF,20%,25V,WT,TP,10*20,5mm 3 SNA

....5 WE0174 2401-004384 C-AL;10uF,20%,500V,WT,TP,12.5x20mm,5mm 1 SNA

....5 WX06283601-001668 FUSE-RADIAL LEAD;250V,1.6A,TIME LAG,4.3x 1 SNA

....5 3812-000219 WIRE-NO SHEATH CU;TCWA,300V,52mm(TAPING) 23 SNA

....5 6042-001015 EYELET;ID1.2,OD1.6,3.05,NI PLT,C2680 16 SNA

....5 DC41-00189A PCB MAIN;ARNO Sensorless Power,FR-1,1,T1 1 SNA

....5 DE60-60012A PIN-EYELET;BRASS,L3.0,BSP 13 SNA

..3 DC94-02704A ASSY HEAT SINK 1;Seine,230V/50Hz,F2,COLD 1 SNA

...4 1203-001006 IC-POSI.FIXED REG.;78R05,TO-220F,4P,-,PL 1 SNA

...4 WE0088 DC62-00259A HEAT SINK;MR4010,AL6063,17mm,11.9mm,BLAC 1 SNA

..3 DC94-02705A ASSY HEAT SINK 2;Seine,230V/50Hz,F2,COLD 1 SNA

...4 0205-001027 OIL-SILICON;G746,-,- 0 SNA

...4 1203-002722 IC-POSI.FIXED REG.;KA78R15,TO-220F,4P,10 1 SNA

...4 6001-000115 SCREW-MACHINE;BH,+,-,M3,L10,ZPC(WHT),SWR 1 SNA

...4 WE0088 DC62-00243A HEAT SINK;Mach,AL6063,3mm,15mm,11mm,WHIT 1 SNA

.2 WW0026DC93-00277G ASSY M.GUIDE WIRE HARNESS;ARNO-F3,WF1124 1 SA

..3 WI5054 DC61-03102A GUIDE-WIRE(F);ARNO,PP,T1.5,W21.5,L485,NT 1 SA

..3 WI0280 DC61-03103A GUIDE-WIRE(B);ARNO,PP,T1.5,W58.6,L527,NT 1 SNA

.2 WE5187 DC93-00278A ASSY SENSOR;MEMS SENSOR,410mm,ARNO 1 SA

..3 WX06240103-002581 POLYURETHANE;CPU-70B / UEP 700FB,V0,PUR 3 SNA

..3 WX06250103-002582 POLYURETHANE;CPU-70A / UEP 700FA,V0,PUR 3 SNA

..3 0202-001497 SOLDER-CREAM;M705-GRN360-K2-V,D36~25um,9 1 SNA

..3 0202-001608 SOLDER-WIRE FLUX;LFC7-107,D0.8,99.3Sn/0. 1 SNA

..3 0404-001572 DIODE-SCHOTTKY;RB558W,30V,100mA,EMD3,TP 4 SNA

..3 1209-001924 IC-SENSOR;KR3DH,LGA,16P,3x3x1.0mm,3.6V,- 1 SNA

..3 2007-000138 R-CHIP;100ohm,5%,1/16W,TP,1005 4 SNA

..3 2203-000233 C-CER,CHIP;0.1nF,5%,50V,C0G,TP,1005 3 SNA

..3 2203-000627 C-CER,CHIP;0.022nF,5%,50V,C0G,TP,1005 1 SNA

..3 2203-006434 C-CER,CHIP;10000nF,10%,16V,X5R,TP,3216,1 1 SNA

..3 2203-007544 C-CER,CHIP;100nF,10%,50V,X7R,TP,1005 3 SNA

..3 WJ0021 6501-001001 CABLE TIE;DACT-100A,T1,W2.5,L100,NTR,NYL 1 SNA

..3 DC41-00186A PCB MAIN;MEMS,FR-4,2,T1.6,49,Above 600V 1 SNA

..3 WI0257 DC61-03029A GUIDE-PCB;VOLGA,ABS,T1.5,NTR,BEST/BETTER 1 SNA

..3 DC93-00295A ASSY WIRE HARNESS;MEMS,ARNO,240 1 SNA

Copyright© 1995-2013 SAMSUNG. All rights reserved. 17



Exploded Views and Parts List

Level Loc. Part Code Description & Specification Qty. SA/SNA

.2 WE0026 DC93-00279A ASSY TRANS REACTORV;ARNO,220V/60Hz 1 SA

..3 WX06226002-001306 SCREW-TAPPING;TH,+,1,M4,L14,ZPC(WHT),SWR 1 SA

..3 WE0149 DC26-00009P TRANS-REACTOR;8.5mH,220V-240V,3A,220V-24 1 SA

..3 WP0161 DC61-03107A BRACKET-REACTOR;ARNO,PP,T3.0,NTR,5VA GRA 1 SA

.2 WE0020 DC96-01703B ASSY SENSOR PRESSURE;PURPLE PJT,PURPLE P 1 SA

1 WF0009 DC90-11688A ASSY FRONT;ARNO,WF1114XBD/XEF 1 SNA

.2 S0025 6006-001174 SCREW-TAPPING;TH,+,WE,2S,M4,L12,ZPC(WHT) 5 SNA

.2 WJ0008 DC91-12078D ASSY WIRE DIAPHRAGM;HEBA-PJT,-,-,-,-,- 1 SA

.2 WF0005 DC97-16631S ASSY FRAME FRONT;ARNO,WF1114XBD/XEF 1 SA

..3 0203-006552 TAPE-POLY;RAPGARD F8R,T0.04,W180,L200,WH 0 SNA

..3 6002-001435 SCREW-TAPPING;TH,+,2,M4,L12,PASS,STS430 2 SNA

..3 WX05346009-001522 SCREW-HEX;HEX,+,-,M5,L16,PASS,STS430,FP, 2 SA

..3 WI0248 DC61-01917A GUIDE-FILTER;WF8804DP,HIPS,T2.5,W300,L20 1 SA

...4 0103-002866 RESIN-HIPS;HG-1760SF,DA WHITE,WT0035,1.5 0 SNA

..3 WP0101 DC61-01919A BRACKET-HINGE;WF8804DP,GI,T1.4,W30,L161, 1 SA

...4 0101-002937 STEEL-PLATE;GI,SGCC,1.4,Z14,NC 0 SNA

..3 WF0128 DC61-02577A GUIDE-FRAME FRONT;WF0800NCE,POM,T2.0,W10 4 SA

...4 0103-000244 RESIN-POM;F20-03,NTR,NC0001 0 SNA

..3 WF0082 DC61-03094D FRAME-FRONT;WF1124XAC,EGI-SECC,DA WHITE, 1 SA

...4 WF0116 DC01-00083B C/STEEL-COLOR;WF1124ZAC,EGI-SECC,DA WHIT 1 SNA

..3 WI0167 DC63-00854A COVER-FILTER;WF8804DP,ABS,T2.0,W300,L200 1 SA

...4 0103-002965 RESIN-ABS;HG-0760,NTR,NC0001 0 SNA

..3 WE0059 DC63-00967A COVER-DOOR SWITCH;AEGIS-PJT/ WF8500NHW,P 1 SA

...4 0103-001351 RESIN-PP;FH44N 19 SNA

..3 WE0067 DC64-01538A DOOR-LOCK S/W;ZV-446L5,PA66,T19.5,W95,BL 1 SA

..3 WD0003DC97-16727B ASSY DOOR;ARNO,WF1124XBD 1 SA

...4 WX06216002-000444 SCREW-TAPPING;TH,+,2,M4,L14,PASS,STS430 9 SA

...4 WX04276002-000445 SCREW-TAPPING;TH,+,2,M4,L18,PASS,STS304 4 SA

...4 WJ0064 6043-001093 PIN-PARALLEL(KEY);A,OD3,L40,PASS,STS204 1 SA

...4 WD0090DC61-00891A GUIDE-HINGE;HAUZEN(DOM),POM,-,-,-,WHT,HI 4 SA

....5 0103-000244 RESIN-POM;F20-03,NTR,NC0001 2 SNA

...4 WD0130DC61-02027A SPRING ETC-LEVER;STAINLESS-STS304,CD1.2, 1 SA

...4 WP0103 DC61-03084A BRACKET-HOLDER;ARNO,GI-SGCC,T1.2 1 SA

....5 0101-002935 STEEL-PLATE;GI,SGCC,1.2,Z14,NC 0 SNA

...4 WD0105DC61-03088A HOLDER-GLASS;ARNO,PP,T3.0 1 SA

...4 WD0096DC61-03189A HINGE-DOOR;WF8804DP,PA66,T5.0,W30,L150 1 SA

...4 WI0175 DC63-01384A COVER-HANDLE;WF1124ZAC,ABS,T2.5,W55.9,L1 1 SA

...4 WD0037DC63-01387B COVER-DOOR;WF1114XBD,ABS,T3,W475,L475,NT 1 SA

...4 WD0070DC64-01790A DOOR-GLASS;AEGIS,NON-HeatTreatment GLASS 1 SA

...4 WD0094DC64-02720A HANDLE-DOOR;WF1124ZAC,HIPS,T1.5,W28.6,L1 1 SA

...4 WD0114DC66-00497B LEVER-DOOR;WF8804DPA1,ZNDC,T5,W10,L35,PL 1 SA

18 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

Copyright© 1995-2013 SAMSUNG. All rights reserved. 19



Exploded Views and Parts List

1.2. Assy Tub&Drum

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1 1 WT0008 DC90-06017A ASSY TUB FRONT; ARNO
PJT,WF1124ZAC/XEF

SNA 1

1-1 2 WD0067 DC64-02684A DOOR-DIAPHRAGM;
ARNO-PJT,EPDM,T1.5,GRY,WA

SA 1

1-2 2 WB5214 DC66-00343K DAMPER-SHOCK;
GE24"-PJT,PP,60N,W24,BLACK,

SA 2

1-3 2 WJ5013 DC97-14263A ASSY BOLT;
HEBA-PJT,MOTOR/BOLT(M8)+WASHER

SA 7

1-4 2 WJ0002 DC97-14618A ASSY CLAMP DIAPHRAGM;
WF8804DP,OD2.0/L124

SA 1

1-5 2 WT0004 DC97-16628A ASSY SEMI TUB FRONT;
ARNO,WF1124ZAC/XEF

SA 1

1-5-1 3 WH5017 DC97-14873B ASSY HOSE AIR; HEBA,WF8702,-,BLACK SA 1

1-5-1-1 4 WH5206 DC67-00354A HOSE-AIR; HEBA PJT,EPDM,BLK,7kg SA 1

20 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1-5-2 3 WH5375 DC97-14874C ASSY HOSE DRAWER; HEBA
BIGBANG,WF0800NCE,

SA 1

1-5-2-1 4 WH5191 DC67-00422A HOSE-DRAWER TUB; HEBA-PJT,EPDM,BLK SC 1

1-6 2 WH5387 DC97-16644A ASSY HOSE PRESSURE;
ARNO,WF1124ZAC/XEF

SA 1

1-6-1 3 WP0165 DC61-70029C SPRING-CLIP;
SEW-HW125,HSWR,CD1.2,ID8.3,W

SA 2

1-6-2 3 WH5388 DC67-00576A HOSE-WATER;
ARNO,TPE,ID4.5,OD8,T2.5,L870,

SA 1

1-6-3 3 WH0012 DC67-00577A HOSE-FILTER TUB; ARNO,EPDM,T1.5,BLK SA 1

1-7 2 WE5189 DC97-16697A ASSY WEIGHT BALANCER-(R);
ARNO,WF1124ZAC/

SA 1

1-8 2 WE5190 DC97-16698A ASSY WEIGHT BALANCER-(L);
ARNO,WF1124ZAC/

SA 1

1-9 2 DC97-16722A ASSY HOSE-CIRCULATION;
ARNO,WF1124ZAC,EPD

SA 1

1-9-1 3 WH5389 DC67-00568A HOSE-AIR TUB; ARNO-PJT,EPDM,T1.5,BLK SA 1

1-10 2 DC65-00021A CLAMPER HOSE-JOINT; HEBA
PJT,HSWR-SWRH,ID

SNA 1

2 2 WX0558 6011-001644 BOLT-HEX; M10,L35,ZPC2,SM10C,DAMPER SA 4

3 1 WG0004 DC90-06011A ASSY DRUM; ARNO PJT,WF1124ZAC/XEF SNA 1

3-1 2 WG0004 DC97-16699A ASSY DRUM; ARNO,WF1124ZAC,D507.4 x
H490.8

SA 1

3-1-1 3 WJ5081 DC60-40137A BOLT-HEX;
MARS-PJT,STAINLESS-STS430,M8,P1

SA 6

3-1-2 3 WG0055 DC66-00677A DRUM-LIFTER;
ARNO,PP,W54,H45.8,L302,T2.5,

SA 3

3-1-3 3 WS0006 DC97-16625A ASSY FLANGE SHAFT;
ARNO,WF1124ZAC/XEF

SA 1

3-2 2 WJ0109 6031-001640 WASHER-SPRING; STS,-,ID35.2,OD39.0,T0.3,- SNA 1

4 1 WT0007 DC90-09979A ASSY TUB BACK; ARNO,WF2124ZAC/XEE SNA 1

4-1 2 WX0434 6002-000471 SCREW-TAPPING;
TH,+,-,1,M4,L12,PASS,STS30

SA 2

4-2 2 WS0060 6602-001497 BELT-TIMING GEAR;
RUBBER(GATES),T3.2,1270

SA 1

4-3 2 WE5177 DC32-00010C THERMISTOR; 3243OHM AT 60-10~100,5,10 SA 1

4-4 2 WE5188 DC97-16702A ASSY WEIGHT BALANCER-(U);
ARNO,WF1124ZAC,

SA 1

4-5 2 WP0099 DC61-02664A BRACKET-HEATER;
HEBA,STAINLESS-STS430,T0.

SA 1

4-6 2 WB5214 DC66-00343K DAMPER-SHOCK;
GE24"-PJT,PP,60N,W24,BLACK,

SA 2

4-7 2 WS0109 DC66-00530B PULLEY-MOTOR; HEBA
BIGBANG,ALDC,OD296.8,I

SA 1

4-8 2 WE0115 DC69-00824A PACKING-THERMISTOR;
GW-PJT,EPDM,-,-,W17,H

SA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 21



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

4-9 2 DC93-00316A ASSY MOTOR-BLDC;
ARNO,WDM500FGB,F,DC310V,

SA 1

4-10 2 WE0010 DC93-00281A ASSY HEATER; ARNO,220~240V,2000W,Silcone SNA 1

4-10-1 3 WE0155 DC47-00033A HEATER-WASH; AC230V,Double Fuse (167 SA 1

4-10-2 3 WE0060 DC63-01340A COVER-HEATER;
ARNO,ABS+PC,T3.0,W143,D40.7

SA 1

4-11 2 WW5711 DC96-01327D ASSY WIRE HARNESS;
ARNO,WF1124ZAQ/XEF,220

SA 1

4-12 2 WJ5031 DC97-06080A ASSY BOLT; SEW-3HR105,BOLT+WASHER SA 1

4-13 2 WJ5013 DC97-14263A ASSY BOLT;
HEBA-PJT,MOTOR/BOLT(M8)+WASHER

SA 7

4-15 2 WT0007 DC97-16708A ASSY TUB BACK; ARNO,WF1124ZAC SA 1

4-15-1 3 WS0119 DC62-00156A SEAL-OIL; TS85-PJT,NBR(OD84),BLK,-,-,-,JI SA 1

4-15-2 3 WO0055 DC69-01769A PACKING-TUB;
ARNO,EPDM,EPDM,T5.5,L1720,BL

SA 1

22 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

1.3. Assy Frame Front&Door

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

0 1 WF0009 DC90-11688A ASSY FRONT; ARNO,WF1114XBD/XEF SNA 1

1 2 WJ0008 DC91-12078D ASSY WIRE DIAPHRAGM; HEBA-PJT,-,-,-,-,- SA 1

2 2 WF0005 DC97-16631S ASSY FRAME FRONT;
ARNO,WF1114XBD/XEF

SA 1

2-1 3 WX0534 6009-001522 SCREW-HEX;
HWH,+,M5,L16,PASS,STS430,FP,SE

SA 2

2-2 3 WE0067 DC64-01538A DOOR-LOCK S/W;
ZV-446L5,PA,W95,L52,WHITE,

SA 1

2-3 3 WD0003 DC97-16727B ASSY DOOR; ARNO,WF1124XBD SA 1

2-3-1 4 WX0621 6002-000444 SCREW-TAPPING; TH,+,2,M4,L14,PASS,STS430 SA 9

2-3-2 4 WJ0064 6043-001093 PIN-PARALLEL(KEY);
A,OD3,L40,PASS,STS204

SA 1

2-3-3 4 WD0130 DC61-02027A SPRING ETC-LEVER;
STAINLESS-STS304,CD1.2,

SA 1

2-3-4 4 WD0105 DC61-03088A HOLDER-GLASS; ARNO,PP,- SA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 23



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

2-3-5 4 WI0175 DC63-01384A COVER-HANDLE; WF1124ZAC,ABS,L130.7,-,- SA 1

2-3-6 4 WD0037 DC63-01387B COVER-DOOR;
WF1114XBD,ABS,T3,W475.5,L476.

SA 1

2-3-7 4 WD0070 DC64-01790A DOOR-GLASS; AEGIS,GLASS,T5.0,W353.0 SA 1

2-3-8 4 WD0094 DC64-02720A HANDLE-DOOR;
WF1124ZAC,ABS,L111.9,HG-0760

SA 1

2-3-9 4 WD0090 DC61-00891A GUIDE-HINGE;
HAUZEN(DOM),POM,-,-,-,WHT,HI

SA 4

2-3-10 4 WP0103 DC61-03084A BRACKET-HOLDER; ARNO,GI-SGCC,T1.2 SA 1

2-3-11 4 WD0114 DC66-00497B LEVER-DOOR;
WF8804DPA1,ZNDC,T5,W10,L46,PL

SA 1

2-3-12 4 WX0427 6002-000445 SCREW-TAPPING;
TH,+,NO,2,M4,L18,PASS,STS4

SA 4

2-3-13 4 WD0096 DC61-03189A HINGE-DOOR;
WF8804DP,PA66,T5.0,W51.7,L156

SA 1

2-4 3 WP0101 DC61-01919A BRACKET-HINGE;
WF8804DP,GI-SGCC,T1.4,L161

SA 1

2-5 3 WF0128 DC61-02577A GUIDE-FRAME FRONT;
WF0800NCE,POM,W4.1,L18

SA 4

2-6 3 WF0082 DC61-03094D FRAME-FRONT; WF1124XAC,EGI-SECC,DA
WHITE,

SA 1

2-7 3 WI0167 DC63-00854A COVER-FILTER;
WF8804DP,ABS,T2.0,W150.7,L1

SA 1

2-8 3 WE0059 DC63-00967A COVER-DOOR SWITCH; AEGIS-PJT/
WF8500NHW,P

SA 1

2-9 3 WI0248 DC61-01917A GUIDE-FILTER; WF8804DP,HIPS,T2.5,W149.2,L SA 1

24 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

1.4. Assy Panel Control

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

0 1 WC0016 DC90-10935A ASSY PANEL CONTROL;
ARNO,WF1114XBD/XEF

SNA 1

1 2 WX0427 6002-000445 SCREW-TAPPING;
TH,+,NO,2,M4,L18,PASS,STS4

SA 2

2 2 WX0441 6002-000520 SCREW-TAPPING;
TH,+,-,2,M4,L12,ZPC(WHT),S

SA 3

3 2 WC0009 DC97-16996A ASSY KNOB ENCODER;
BAIKAL-PJT,WF702Y4BKWD

SA 1

4 2 WC0016 DC97-16908Q ASSY PANEL CONTROL; ARNO
JR,WF1114XBD,BET

SA 1

4-1 3 WC0122 DC64-02760Q PANEL-CONTROL;
WF1114XBD/XEF,ABS,T3.0,W59

SA 1

4-2 3 WC0001 DC97-17044B ASSY BUTTON; ARNO,LED SA 1

4-2-1 4 WC0140 DC64-02682B WINDOW-PANEL;
ARNO,PC,FRENCH,TRANSPARENT,

SA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 25



Exploded Views and Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

5 2 WZ0025 DC92-00676A ASSY PCB SUB;
ARNO,WF1124XBC,12KG,230V/50

SA 1

5-1 4 WC0088 DC61-03097A GUIDE-LED; ARNO,HIPS,T1.5,W22.2,L77.2,H13 SA 1

5-2 4 WP0088 DC61-03098A BRACKET-ENCODER;
ARNO,HIPS,T1.5,W75.8,L78

SA 1

26 Copyright© 1995-2013 SAMSUNG. All rights reserved.



Exploded Views and Parts List

1.5. Assy Drawer

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

0 1 WR0005 DC90-06007A ASSY DRAWER; ARNO PJT,WF1124ZAC/XEF SNA 1

1 2 WX0494 6003-000226 SCREW-TAPTYPE;
TH,+,-,S,M4,L8,ZPC(WHT),SW

SC 2

2 2 WR0008 DC97-16643A ASSY HOUSING DRAWER;
ARNO,WF1124ZAC/XEF

SA 1

2-1 3 WE5152 DC62-00024M VALVE WATER; 220-240,10,D-2 SC 1

2-2 3 WH5267 DC67-00051B HOSE-DRAWER;
Q1636GW/XEU,EPDM,ID9.0,OD14.

SA 0

2-3 3 WR0012 DC97-16006A ASSY S.HOUSING DRAWER;
SCOUT,WF0804Y8E,PP

SA 1

3 2 WR0005 DC97-16696A ASSY DRAWER; ARNO,WF1124ZAC SA 1

3-1 3 WC0114 DA64-03804A MASCOT; ALL,NICKEL,T0.05,L65 SA 1

3-2 3 WI0125 DC67-00452A CAP-RINSE; WF0800NCE,PP,W66.4,L219.2,ECO SA 1

3-3 3 WR0029 DC61-02580A BODY-DRAWER;
WF0800NCE,PP,T2.0,L265.5,W15

SA 1

Copyright© 1995-2013 SAMSUNG. All rights reserved. 27



Exploded Views and Parts List

1.6. Small Parts

Exploded View

Parts List

No. Lvl. Loc. Material Code Description & Specification SNA Qty.

1 2 WI0293 DC61-01736A HOLDER-WIRE;
SEW-HKR149ATA,PA,128,NEW-K4

SA 1

2 2 WI0293 DC61-40083A HOLDER-WIRE;
DAWH-3ND,NYLON66,NTR(PI24.4)

SNA 1

3 2 DC61-00133A CLAMPER HOSE-FIX;
P1291,PP,-,HOSE+PLUG,BJ

SNA 1

4 2 DC61-00118A CLAMPER HOSE-FIX; P1291,PA66,ID27,OD30 SNA 1

5 2 DC61-02879A HOLDER-WIRE;
WF8804CPA,PA,L58.6,NATURAL

SA 1

6 2 WI0295 DC61-60074A HOLDER-WIRE; PA,-,NATURAL,-,rectangle SA 1

7 3 WI0294 DC61-00553B HOLDER-WIRE SADDLE; PA,NTR,NYLON66 SA 1

8 2 6502-000127 CABLE CLAMP;
DAWH-18NB,ID15,-,NYLON66,NTR

SNA 1

28 Copyright© 1995-2013 SAMSUNG. All rights reserved.


	1. Main
	1.1. Frame & Cover Parts
	1.2. Assy Tub&Drum
	1.3. Assy Frame Front&Door
	1.4. Assy Panel Control
	1.5. Assy Drawer
	1.6. Small Parts


